Jooooooboobooboog
goooooooooouod

2003MM128 OO OO
gbooo:-0o0o0o0

1 00odn

gboooo,bobooboboobooboboan
gbooboooobooboboooo,ooobobonbod
goboooboboooboobooooobooboooboboo
gobooboooboooobobboobooboooo
gobobooooooo,0oo0obobooboboboo
goobooboboooobooooo,0boboboo
gobooooooboobooboboboboooooo
oobooboooooao

2 00Oogo

100000d0000duoooogooooouoooon
odUo0oo0dUo0ooooooooooooooo

i = Ax + Bu

y=Cx
goo,0j0goobooooooboooooon

S| o 1
| —128.0814 —4.0870

_2.5134]’(7__ [1 0}

000,00000,.0000,y000000][2]0

3 ODoooaoboo

000000000000,000000000000,
0(A,C)0000000000000000000Q=Q7
ODo,R>00000,0000

B =

J:i/CdUTQx@)+Ru@Vyﬁ (1)

O0o0obO0oO00oO00oDbDo0oobooobooOokKODOO
ooooboooooobooooobooog,

K=-R'BP (2)
D00000O0POOOOOOODO
PA+ATP - PBR'BTP+Q=0 (3)

D00000000000000000P =PT >000
00000000000QUOODNON0O0ONNODO
Q = diaglql ¢2], ¢q1>0,42>0

4 0D0O0OOO

boboboboboboboooboobobooo
gbobooooooboobobobobobobooooo

oboooooocoooooooooboboboobooon
obooooooooobooboobobobobooobooon
oooobooogon

4.1 0000

oooooo,00b0ocobooooboooooon

obooooooooooboobooboboboobon
oo0o[oo0oo0o0o0ooooo,0oooo
uboboogbobooboabbooboobboaoobad
bogboodgbgboboobobo,bobobodaod
0000000000000 0000ooOo(@o)

U1 0boobooboobooboon
1:.00000000
20000000

4.2 0O0OO0OO0OOOOOO

gbobooobodpoboobOobOobobooobonoO
obo0db0p=nO0000000000000O0

2= Az+ Bu (4)
w=z (5)

Ubdbdwdbdbz0000000b0000b0000d
OwO0OD00000000A00000000000QOO
000000000000 A00O0DODOOOOODOOOO
OO0ydO00O0O0OD0O0OO0O00O00DODOOOOOC-000
goo0opooooOopoooGoooooooOooooo

2=Az+ Bu+ Gy —Cz) (6)
w=z (7)
0(6),(7)00000000000000
4.3 00OOO0OOOOOO

gobooobooob-OO0oOobOOOOOOO0bOOOn
r000000000,(n—r) 0000000000 OO
booobooooboobooooooboo

(n—7m)xnO0O0DOOOOOOnxnOO

T =

g]DDDDDDDDDDDDDDDDDD



007T00z=T200000000000

Tz = Az + Bu

y—C’f

Oo0oooono

- |An Al 5 |Bi] A

e B C:[L qDDDDDD
Azr Aso By

00,0(A,C)0000000 (A, A2) 0000000
00000000[A»-GA)00000000000
0000000000000GOOO0OOOO0O0OO

0 1

oog W:T”AI v=7-1"|00

G
gobooboooobobooobooboooon

2 = [Agg — GAa)z+[A2G+ Ay; — G(A12G)+ Ay (8)
+[B2 - GBl]U
w=Wz+Vy 9)

5 Uboooboob,oo

(H)OoOoOUDoOOO0ooOoOOO0oooOOoOoooDOoUoooo
gobobooboboooo,0ooboboboboo
0000000000 K =[-97.927 —9.7000 0,00

ng- [100 0

gbooooobooo23mbon
0 50

—1,-10,-30,—1000 0000000000000000

Oooooooood

—3.087,G

5.913,G

hright
height

I 5
time(s) time(s)

0200000000000 30000000000

ggogooaoo goo

(2) 000000000000 OOOoDOOoOooooOO
gobooboo,00booboooooobooooon
97.927

00GOG = [9.700

1DDDDDDDD4,5DDDD

height
—
height
—

T2 3 ¢ 5 € 7 8 9 1 i tH

time(s) time(s)

5 2

25.913,G=959130 0000
Oe7/00000000OC0O0O0ODODODOODOOG =
959130 00000000

neignt
height

05 1 15 2 25 _ 3 3 4 5 3

. a5 4
time(s)

* timels)”
0600000000000 T000OoObODbOOoOoOoo
goooooooon ogooa

5.1 ODOO0OOoOOO,0000000

100 0
0 50
ubhob2enmi000b0OO0O0OO0DOOCOOOOODOO
g, 00gbooboooooooooooboooaon
gboooooooboooobobobobobooooo
goboooobooboooboboboooboboboooooo
gboooooobooboobobooboboboboo
gboooooobooooboooobooboboooo
gboooooooooobooboboboboooboo
oboooboobooobooboooood

6 0OO4g
6.1 OO0OOOOOOOO

goboooobooboobooobooooooooon

obooooooooooobooobooooooooon
oooooooo

oboooboooobooobooobooboooooooobo
g,0gbobogboobodoboobooboboboood
uboogognd

gboooboooboo,goboobbooobgbobad
ubobogobooboobbooboobobooobad
gboooobgooobo

oooooQ = ]DDDDDDDDDDDD

goon

(1] 0000,00000000000, 000 (1994).

2] 0000000000 O0O0D0O0O0O0O0O0OO
00000,000000000000000000
0 (2005).

3] 0000,0000,0000:
(1999).

gooo, oooao

U4 000000000005 00000000004 0000: MATLAB/Simulink000O0000000

oboooooboooon ooog

3)oO0O0oO0D0DO0DoOoOU00OooDoOUOO0ODOUOODOO
goboooobOob,0o0o0ooboooooooooo

000,0000,(2001)



